e 38 ¢

1 Q R 9:22
X+2Y=—7=20Q +R .6 gX Y
4.4 gR Y
Q ( )e
A.46:9 B.32:9 C.23:9 D.16:9
Q R 9:22
Q R
18:22 1.6 gX Y
4.4 g R 4.4x18+22=3.6g¢Q
Y 3.6+4.4-1.6=6.4 g,
Y Q 6.4¢:3.6¢g
=16:9 D
2 0.8 mol CO, 1 L1 mol/L
NaOH NaHCO,
Na, CO, ( )o
A.3:1 B.2:1 C.1:1 D.1:3
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NaHCO, Na,CO, XNy
x +y =0.8mol
x + 2y = Imol x =0. 6mol.y =
0.2 mol  wiy=3:1 Ao
3
25.0 mL 0.1 mol/L Na,S,0, 224 mL
( )CL Cl~ S,05°
( )e
A. S B.S C. 803" D.S0;~

o

(0.224 L/22.4 L -
mol ') x2=0.025 L x0. 1mol/L x2 x (x —=2)
x=6 D.

X °

~

4 1L SO;~ 0.00025 mol Cl~
0.0005 mol NO, 0.00025mol Na*0.00025 mol
H” H” ( )o
A.0.0025 mol * L™"  B.0.0001 mol * L~
C.0.001 mol * L' D.0.005 mol * L'
:n(Na™) +n(HY) =
2n(S0:7) +n(Cl7) +2(NO;)  0.00025 mol +
n(H") =2 x 0. 00025 mol + 0. 0005 mol +
0.00025 mol n(H") =0.001 mol c(H") =
0.001 mol/1 L =0.001 mol/L Co
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H.O
H.O o
(1) NH,Cl n(N)
tn(Cl) =1:1 c¢(NH;) +c¢(NH, * H,0) =

c(C17);(2)Na,CO, n(Na):n(C) =2:1
c(Na®) =2 ¢(CO) +c¢(HCO;) +
c¢(H,CO;) ;(3) NaHCO, n(Na):

n(C) =1:1 c(Na') =¢(COI) +
c¢(HCO; ) +¢(H,CO,)
5 0.5 mol/L  Na,CO,
( ).

A.c(Na*):e(CO;7) =2:1
B.c(Na®) >¢(CO2") >¢(HCO;) >c¢(H")
>c(OH™)
C.c(Na™) +c(H") =¢(CO;") +c(HCO;)
+c¢(OH™)
D.c(Na") =2 ¢(CO;" ) + ¢ (HCO;) +
c¢(H,CO,)
A Co;~
2:1 A ;B Co:"
c(Na*) >¢(CO") >c(OH) >
c¢(HCO; ) >c(H") B ;C
c¢(Na®) +c(H") =2¢(COY7) +¢(HCO;) +
c¢(OH™) C ;D
€O \HCO, H,CO, Na, CO,
n(Na™) =2n(C) D.
H* H*
H*
. (1) NH,CI
c(H") =c¢(0OH") OH™ NH;
NH, « H,0 1:1 H”
c(H") = c(OH™) = c(OH™) +
¢(NH, * H,0). (2) Na,CO,
c(H") =¢(0OH") H* €O
HCO, 1:1
HCO, H,CO, co:- 1:2

. 39.
OH" ¢c(OH™) =
c(H") =c¢(HCO; ) +2¢(H,CO,) + c(H")
6 Na,S
( )
A. ¢(OH™) =c(HS™) +c(H™) +2¢(H,S)
B. ¢(OH™) =2¢(HS™) +c(H") +c(H,S)
C. ¢c(OH™) =c(HS™) +c(H") +¢(H,S)
D. ¢(OH™) =c(HS™) +2c(H") +c(H,S)
Na,S c(H™)
=¢(OH") H §° HS~
1:1 HS~ H,S
12 OH"
c(OH") = c(H") =c(HS™) +2c¢(H,S) +
c(H) c(OH™ ) =c(HS™) +c(H") +
2¢(H,S) A

~

o

7 0. 02mol /L HAc 0.0Imol/L

NaOH

A.c(Na™) >c(Ac™)

B. c(HAc) >c(Ac™)

C.2¢(H") =c(Ac™) —c(HAc)

D. ¢(HAc) +c¢(Ac™) =0.01 mol/L

0.005 mol /L
HAc  0.005 mol/L NaAc o A
HAc NaAc
c(H") >c¢(0OH™)

c(Ac™) >
c(Na*).c(Ac™) >c(HAc) A.B :

c(H") +e¢(Na®) =c(Ac™) +c(OH™) @

c(HAc) +c¢(Ac™) =c(Na™) x2=0.01 mol/L

@
) D . DOx2+Q®
2¢(H") =c(Ac™) +2¢(OH™) - c(HAc)
C D,
° ( 12016 -03 - 15)



